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M HIIE2 E2F Mol(BFES/HIIE)

?: MEHII=S Helolgt &= (et =3

SN H - SR(EH) - NPAMY - BES 0] &F o 013 o HRE2
S Al OISt 29,305,230 29,280,993 24,237
= 1,381,500 1,381,500 0
S 2,740 2,740 0
Al 27,920,990 27,896,753 24,237
HOI2 S88 Md(2#ZES/HIIS) 27,318,780 27,294,543 24,237
= 1,381,500 1,381,500 0
= 2,740 2,740 0
Al 25,934,540 25,910,303 24,237
MEHIIE Heldlg &S 9,375,778 9,351,541 24,237
= 1,379,500 1,379,500 0
Al 7,996,278 7,972,041 24,237
s0HE HOI2 SEHM2AE XA 234,237 210,000 24,237
401 AIEHIL 2OhY| 234,237 210,000 24,237
01 A& HI 223,976 200,000 23,976

O sOHEHJI2 SEXM2AIE s "SolO "
oS (=X MESHE BE=2) 23,976 0 23,976
o StEH Kk 21,237,000& * 98.92/100 21,008 0 21,008
o aNHE X 3,000,000 = 98.92/100 2,968 0 2,968
03 A& R0 261 0 261
O sOEmJI= SEXM2AIE 8BS "folo "

ooi=sx2(s=2XNeLMHESHs BE3) 261 0 261
o SEH IHZ(1.08%) 229,000 * 14 229 0 229
o AAD E & (1.08%) 32,000 * 14 32 0 32






